M451/551 Quiz 8

March 31, Prof. Connell ' )
Name: E_"\Ei@ui?. ‘le Yart C

You do not need to simglify numerical expressions.

1. The utility function of an investor is u(z) = 1—e® . The investor must choose one of
two investments. If his fortune after investment 1 is a random variable with density
function fi(z) =e %, = > 0, and his fortune after investment 2 is a random variable
with density function fa(z) = 1/2, 0 < z < 2, which investment should he choose?
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(Problem #2 is on the other sidT) ’



2. In the portfolio selection problem, show that the percentage of ones wealth that should
be invested in each security when attempting to maximize E[log(W;)] does not depend
on the amount of initial wealth Wj.
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